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SOOI (D] &) SH20I0IAICI (D] &)
2006.06.01 14:15 2006.06.01 14:15
LSS 0001 LSS 0001
S 8961 HEHS 8961
1= : 4010kg / 3800kg 1= : 4010kg / 3800kg
| 7810kg e 7810kg
2 =t 4010kg / 3800kg 2 =t 4010kg / 3800kg
En I 7810kg En I 7810kg
3= 4010kg / 3800kg 3= 4010kg / 3800kg
e 7810kg | 7810kg
4 = : 4010kg / 3800kg 4 = : 4010kg / 3800kg
En I 7810kg EnI 7810kg
A 31680kg A 31680kg
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ASCIl | S| T 019 110 113 112 2
o0 ANZE | x| W | * 2 * ]| * | AlZE | % =2
ASCIl (0| 0| 213 96 |5]1 olo|lo|8|oO
o0 LAHS * AStHS * 1 = 800kg
ASCll |o|o]o|l9]|o]oO CR

3 4h 5 = pr=
o[ 0| 2 = 900kg * * End
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XA Jtsst E= 00HA 710HK Ol0H, OI= OB HIOIE= I8t s
TRIE & 210IX(032: ZT2E &/ 2 :Z2lE oF 8)E XIXGID, 18M dolg
S8 OI0IE 25501 AA= IE HI2 ANKXIF A ZSED=E LHEYLIC.
= JIE TZE AAY FAIHE  “AND"E F=Jletd® 2 20| XFGHAAL.
PO0-032(ASCI | 32 : GIOIEF AI&), PO1-065( ASCII 65 : &2XF A)
P02-078(ASCI| 78 : =Xt N), P03-068( ASCI| 68 : =Xt D),
P04-255(ASCI | 255: OIOIEF &)
= ASCII ZEE (812 BEEE 2AUMU 22/5HAID| HIELICH
21Xt e =2Xt e 2Xt nE 2Xit nE 2Xt b =Xt nE
g2t 32 0 48 @ 64 P 80 96 p 112
| 33 1 49 A 65 Q 81 a 97 q 113
34 2 50 B 66 R 82 b 98 r 114
# 35 3 51 C 67 S 83 c 99 s 115
$ 36 4 52 D 68 T 84 d 100 t 116
% 37 5 53 E 69 U 85 e 101 u 117
& 38 6 54 F 70 v 86 f 102 v 118
‘ 39 7 55 G 71 W 87 g 103 w 119
( 40 8 56 H 72 X 88 h 104 X 120
) 41 9 57 | 73 Y 89 i 105 y 121
* 42 : 58 J 74 Z 90 j 106 z 122
+ 43 H 59 K 75 [ 91 k 107 { 123
44 < 60 L 76 W 92 | 108 | 124
- 45 = 61 M 77 ] 93 m 109 } 125
. 46 > 62 N 78 n 94 n 110 126
/ 47 ? 63 0 79 _ 95 o] 111 = 255
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B TEST 4: =2y HAE
St &9

n ' PANT| J|E =20 T2l HAE 2LAIQ|

" ,' "" ,‘ =2 =LY,
- e m—
| JIE 2™ TEST 52 0O|l=¢&LICH.
M TEST 5: =9 HAE
3t &9

) ‘Xl |31 S W OICH EAL &l

' ‘ '-' ,'-' '- A% 0| ON/OFF £ bBt=28&HLICt

- - - |32 v29 HAE BEE OIELG
11. PC S&l A&
(1) RS-232C LE HAHurH

3 RXD 3 TXD

2 TXD 2 RXD

5 GND 5 GND

9 Pin D-Type (male) 9 pin port (Female)

Port of TX=200A Port of computer or Serial printer
(2) CIOJEf TtoH
B Ef2 : EIA-RS-232C
B SA2E 0 Full-duplex, asynchronous transmission Format

- Baud rate : 9600bps

- Data b|t-8 Stop bit —1 Parity bit — None

- PC2 S4 32 HERZE FO6 = gﬂa/wgz.
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DA 8 8- LOW BATTERY, & &, - , otH
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S EXME
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